
      present simple of to be

negative statements

Lückensatz------- 

- Fill in the gaps with a correct form of the verb to be + not.

- Underline the unknown words.

1. We _______________ lucky to be here. 0,515 are not

2. You _______________ in the classroom. (pl) 0,155 are not

3. It _______________ my apartment number. 0,554 is not

4. I _______________ in the bathroom. 0,493 am not

5. She _______________ from Berlin. 0,823 is not

6. It _______________ my last name. 0,437 is not

7. We _______________ in the supermarket. 0,507 are not

8. I _______________ in the living room. 0,508 am not

9. You _______________ a bad swimmer. 0,848 are not

10. It _______________ hot. 0,593 is not

11. I _______________ Max. 0,364 am not

12. She _______________  a doctor. 0,394 is not

13. You _______________ in the kitchen. (sg) 0,489 are not

14. It _______________ my first name. 0,607 is not

15. It _______________ in the kitchen. 0,347 is not

16. We _______________ in the zoo. 0,164 are not

17. She _______________ a good swimmer. 0,571 is not

18. They _______________ in the garden. 0,166 are not

19. It _______________ my telephone number. 0,618 is not

20. She _______________ 15. 0,591 is not

21. He _______________ a doctor. 0,917 is not

22. He _______________ absent. 0,588 is not

23. He _______________ in the hospital. 0,045 is not

24. You _______________ in the park. (pl) 0,105 are not

25. We _______________ happy. 0,798 are not

26. She _______________ from Germany. 0,336 is not

27. It _______________ my e-mail address. 0,934 is not

28. You _______________ very loud. (pl) 0,409 are not

29. I _______________ in the bedroom. 0,554 am not

30. You _______________ lazy. (sg) 0,872 are not

31. I _______________ Tim. 0,405 am not

32. They _______________ friends. 0,783 are not

33. She _______________ in the park. 0,384 is not

34. She _______________ in the restaurant. 0,395 is not

35. She _______________ happy. 0,698 is not
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